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Classe de 5°

Exercice 1
Calculer les expressions suivantes en détaillant les calculs.
A=12+(9-5)

B =13 x (10 —4)
C=11x11-12

D=5x7—(3+7)+10+13
E=11-3+5x8+4+4
F=74+7+7%x13-3+6

Exercice 2

Calculer les expressions suivantes en détaillant les calculs.

A=8-12+3 D=3+13+10x 6+ (10 —9)
B=7x12=+12 E=114+10x(6—-3)+(9+6)
C=5+11x3 F=12+6x9+10— (8 + 11)
Exercice 3

Calculer les expressions suivantes en détaillant les calculs.
A=10x (13 +5)

B=12+6x38
C=12x6+11

D=5x8+6+3-5+3
E=5x(10+2)+4+5-3
F=4x5+8+247—13

Exercice 4

Calculer les expressions suivantes en détaillant les calculs.

A=11x10+3 D=8+8—-Tx8=+(2+2)

B=5+9-11 E:8—11+(5+6)+7x10
C=44+T7x6 F=3+3x6+13—(2+5)
Exercice 5

Calculer les expressions suivantes en détaillant les calculs.

A=9x9—4 D=8+7+(13—-6)+9x4
B=3x11-10 F=94+10x54+8+4—-11
C=8-7+13 F=4-3+44+3%x2+x+2
Exercice 6

Calculer les expressions suivantes en détaillant les calculs.

A=7+4x10 D=44+4+44+10x2-2
B=13+9x13 E=6x8+4+124+7-13
C=9-3+4 F=13+8=+2x(4+7) -3
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G=11x34+7+12-5=5
H=7x85—(424173)+8,7
1=92x26-29+56+9,3

G=12=(11-5)+3x5+8
H=52+8+15x(82—4,5)
I=34+92+85—38x2,8

G=12x(T+7)+7—(12+3)
H=22x92+98—67+64
T=43x (784+42)—65+14

G=8x12+13—(6+6)=6
H=62x26-53+15+14
I=97+58+57x(4,7-2]1)

G=9x(11+12)+ 11+ (7—6)
H=44-31+5+96x14
I=78%28+56+92—79

G=5xT7+12=(3+9)—38
H=95-8+27+38x84
I=6x99—-19+5+27
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Classe de 5°

Corrigé de I'exercice 1

Calculer les expressions suivantes en détaillant les calculs.

A=12+(9-5)
A=12+4

A=3

B =13 x (10 —4)
B=13x6

B =178

C=11x11-12
C=121-12

C =109

D=5x7—-(34+7)+10+13
D=5x7-10+10+13
D=35-10+10+13
D=35-1+13
D=34+13

Corrigé de I'exercice 2

D =47

E=11-34+5x8+4+4
E=11-34+40+4+4
E=11-3+10+4

E=8+10+4
E=18+14
E =22

FP=7T+7+7Tx13-3+6
F=7T+1x13-34+6
F=7+13-3+6
FF=20-3+4+6
F=17+6

F =23

G=11x3+7+12-5=+5
G=33+7T+12-5+5

Calculer les expressions suivantes en détaillant les calculs.

A=8-12+3
A=8—-14

A=14

B=7Tx12+12
B=84+12

B=7

C=5+11x3
C=5+33

C =38

D=3+134+10x6= (10— 9)
D=3+13+10x6+1
D=3+13+60=1

D =3+413+ 60

D =16+ 60

D =176

E=11+410x (6 —3) = (9+6)
E=11+10x 3+ (9+6)
E=11+410x3+15
E=11+30=15

E=11+2

E =13

F=12+6x9410— (8+11)
F=12+6x9+10—19
F=2x9410-19
F=18410-19
F=28-19

F=9

G=12+(11—-5)+3x5+8
G=12+6+3x5+8

Année 2015/2016

G=33+7+12-1
G=40+12-1
G=52-1

G =51

H=7x85—(42+173)+8,7
H=7x85—115+87
H=595—11,5+8,7

H =48+ 8,7

H = 56,7

I=92%x26-29+56+93
1=2392-29+56+9,3
I=21,02+56+93
I=26,62+93

I = 35,92

G=2+3x5+38

G=2+15+8
G=17+38
G=25

H=52+8+15x(82—4,5)
H=52+8+15x37
H=52+8+555

H =132+555

H = 18,75

I=34+92+85—38x2,8
I=34+92+85—10,64
I=12,6+85— 10,64
I=21,1-10,64

I =10,46
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Corrigé de I'exercice 3

Calculer les expressions suivantes en détaillant les calculs.

A=10x (13 +5)
A=10x18

A =180

B=12+6x38
B =12+48

B =60

C=12x6+11
C=72+11

C =383

D=5x8+6+3-5+3
D=40+6+3-5+3
D=40+2-5+3
D=42-543
D=37+3

Corrigé de I'exercice 4

D =40

E=5x(10+2)+4+5—3
E=5x12+4+5-3
E=60+4+5-3
E=154+5-3

E=20-3

E =17

F=4x5+8+24+7-13
F=20+8+2+7-13
F=20+447-13
F=24+4+7-13
F=31-13

F=18

G=12x(T+7)+7—(12+3)
G=12x14+7—(12+3)

Calculer les expressions suivantes en détaillant les calculs.

A=11x10+3

A=110+3
A=113
B=5+9-11
B=14-11
B=3
C=4+7x6
C=4+42

C =46

D=8+8—-T7x8=+(2+2)

D=8+4+8-7x8+4
D=8+8-56+4
D=8+8-14
D=16—-14

D=2

E=8-11+(5+6)47x10
E=8-11+11+7x10
E=8—-1+7x10

E=8-1470
E=7+70
E=T77

F=3+3x6+13—-(24+5)
F=3+3x6+13-7
F=1x6+13-7
F=6+13-7

F=19-7

F=12

G=8x12+13—(6+6)=6
G=8x12+13-12+6

Année 2015/2016

G=12x14+7-15
G=168+T7—-15
G=24-15

G=9

H=22x92+98—6,7+6,4
H=2024+98—67+64

H =30,04—6,7+6,4
H=2334+64

H = 29,74

I=43x%(78442)—65+14
I=43x12—65+14
I=516—65+14
I=451+14

I =465

G=96+13-12+6
G=96+13 -2
G =109 —2

G =107

H=62x26-53+15+14
H=1612-53+15+14
H=1082+15+14
H=1232+14

H =13,72

T=97+58+57x(4,7—21)
I=97+58+5,7x26
I=9,7+538+ 14,82

I =155+ 14,82

I =30,32
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Corrigé de I'exercice 5

Calculer les expressions suivantes en détaillant les calculs.

A=9x9—-4
A=81-4

A=T7

B=3x11-10
B=33-10

B =23

C=8-7+13
C=1+13

C=14

D=8+7+(13-6)+9x4
D=8+T7=7T+9x4
D=8+1+9x4
D=8+1+36

D=9+36

Corrigé de I'exercice 6

D =45

EFE=94+10x5+8+4—-11
E=9+50+8+4-11
E=9+50+2-11
E=59+2-11
E=61-11

E =50

F=4-3+44+3%x2=+2
F=4-3+4+6+2
F=4-3+4+4+3

F=1+4+3
F=5+3
=38

G=9x(114+12)+ 11+ (7—6)

G=9x23+11=(7—6)

Calculer les expressions suivantes en détaillant les calculs.

A=T7+4x10
A=7+40
A =47

B=13+9x13
B =13+4+117

B =130

C=9-3+4
C=6+14

C=10

D=44+4+44+10x2-2
D=4+1+10x2-2
D=44+1+20-2
D=5+20-2
D=25-2

D =23

E=6x8+4+124+7-13
E=48+4+12+7-13
E=12+12+7-13
E=24+7-13
E=31-13

E =18

F=13+8+2x(4+7) -3
F=13+8+2x11-3
F=13+4x11-3
F=13+44-3
F=57-3

F =54

G=5x7+12+(3+9)—8
G=5x7+12+12-38

Année 2015/2016

G=9x23+11+1
G=20T+11+1
G=207+11

G =218

H=44-31+54+96x14
H=44-31+5+1344
H=13+5+1344
H=63+1344

H =19,74

I=78%x28+56+92-79
I=21,84+56+92—179
I=2744+492-79
I=36,64—709

I=28,74

G=35+12+12-38
G=35+1-8
G=36-38

G=28

H=95-8+27+38x84
H=0905—8+27+ 31,92
H=15+27+31,92

H =42+ 31,92

H = 36,12

I=6x99—19+5+27
I=594—19+5+27
I=575+5+27
I=625+27

I =652
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